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Topic:TEMPERATUREANDHEAT

I. Answers:
1)GivetheformulatoconvertdegreeCelsiustoFahrenheit.

ANS:F=(Cx9/5)+32.

2)GivetheformulatoconvertFahrenheittodegreeCelsius.
ANS:C=5/9(F-32).

3)Whatisthemeltingpointandboilingpointofmercury?
ANS:Meltingpointofmercury=(-38.87)ºCandboilingpointofmercury=

356.58ºC.

4)Whatistherangeoftemperatureinalaboratorythermometer?
ANS:Therangeoftemperatureinalaboratorythermometeris-10ºCto110ºC.

5)Whatisthenormalbodytemperature?
ANS:Normalbodytemperatureis37oCor98.6oF.

6)Listthecharacteristicfeatureinamercuryclinicalthermometer.
ANS:(a)Thereisalittlearrow(at98.4or98.6°F)showingthenormalbody

temperature.(b)Thereisaconstrictionorkinkinthetubenearthebulb.This
kinkhasbeenmadetoensure thatthemercuryinthethermometerdoesn’t
flowbackbeforethetemperaturehasbeenread.

7)Whatistheuseof‘kink’inclinicalthermometer?
ANS:Kink’isprovidedintheclinicalthermometerwhichdoesnotallowthe
mercurytocomedownonitsownandwecannotethemeasuredtemperature
evenaftersometime.

8)Whydoestheclinicalthermometerrangebetween35oCto42oC?
ANS:Clinicalthermometerrangesbetween35oCto42oCbecausethenormal
temperatureofhumanbodyis37°C.Thetemperatureofhuman bodynormally
doesnotgobelow35oCorabove42oC.
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II1.Onthecoldwinterday,thetemperaturewas23°F.Whatwouldthistemperature
beindegreeCelsius?
Soln:thetemperatureinFahrenheit’s=23°F

ThetemperatureinCelsius=?

C= =
5(F-32)

9

= =
5(23-32)

9

= =
5×(-9)

9
(-5)

23°F=-5°C

2.Onthetopofthemountain,waterboilsat95°C.Expressthistemperatureonthe
Fahrenheitscale.
Solution:thetemperatureinCelsius=95°C

ThetemperatureinFahrenheit’s=?

F= +32(C×
9

5)
= +32(95×

9

5)
= +32(19×9)

=171+32=203
95°C=203°F


